
SAP ABAP table VDLV {Contracts/Credit (life ins., build.savings etc) basic data}

VDLV

MANDT [CLNT (3)]

RSICHER [NUMC (8)]

SSICH [CHAR (4)]

SVWAERS [CUKY (5)]

SPFSTAT [NUMC (2)]

SLVSON [NUMC (2)]

SBUEART1 [NUMC (2)]

SBUEART [NUMC (2)]

SLAENDER [CHAR (3)]

T000

MANDT [CLNT (3)]

 VDLV-MANDT = T000-MANDT 
1

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]
 VDLV-SLAENDER = T005-LAND1 0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)] VDLV-SVWAERS = TCURC-WAERS 1

1

TD01

MANDT [CLNT (3)]

SSICH [CHAR (4)]
 VDLV-SSICH = TD01-SSICH 

0..N

1

TDL1

MANDT [CLNT (3)]

SLVSON [NUMC (2)]

 VDLV-SLVSON = TDL1-SLVSON 

0..N

1

TDL2

MANDT [CLNT (3)]

SBUEART [NUMC (2)]

 VDLV-SBUEART = TDL2-SBUEART 

0..N

1

TDL21

MANDT [CLNT (3)]

SBUEART [NUMC (2)]

 VDLV-SBUEART1 = TDL21-SBUEART 

0..N

1

TDL3

MANDT [CLNT (3)]

STATUS [NUMC (2)]

 VDLV-SPFSTAT = TDL3-STATUS 

0..N

1


